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MECHANICAL ENGINEERING
Paper |
Time Allowed : Three Hours Maximum Marks : 300
INSTRUCTIONS

Each question is printed both in Hindi and in English.

Answers must be written in the medium specified in the
Admission Certificate issued to you, which must be
stated clearly on the cover of the answer-book in the
space provided for the purpose. No marks will be given
for the answers writien in a medium other than that
specified in the Admission Certificale.

Candidates should attempt Questions no. 1 and 5
which are compulsory, and any three of the remaining
questions selecting at least one question from each
Section.

The number of marks carried by each question is
indicated at the end of the question.

If any data is considered insufficient, assume suitable
value. Psychromeiric chart is attached with this
quesiion paper.

Wherever required, neat sketches/diagrams may be
drawn on the answer-book itself.

IMPORTANT : Whenever a question is being
attempted, all its parts/sub-parts must be attempted
contiguously. This means that before moving on to the
next question to be attempted, candidates must finish
attempting all parts/sub-parts of the previous question
attempted. This is to be strictly followed.

Pages left blank in the answer-book are to be
clearly struck out in ink. Any answers that follow
pages left blank may not be given credit.
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SECTION A

1. (a) Air enters a steady flow adiabatic turbine at
1600 K and exhausts to almosphere at 1000 K,
P ., = 1 bar. If the second law efficiency is 85%,
what is the turbine inlet pressure ? What is
irreversibility during expansion process 7 Given,

surrounding temperature is 25°C.

Properties of air

T, [K] h, [kd/kgl | s, [kdikg-K]

1000 1046 86905

1600 1757 81349

12
(b)  Averylong AIST 316 stainless steel (K = 14 W/m-K)

rod 5 mm in diameter has one end maintained at
100°C. The surface of the rod is exposed to ambient
air at 30°C with average convective heat transfer
coefficient of 50 W/m?-K. Neglecting radiation heat
transfer, estimate how long the rod must be to treat
it as “infinitely long” to yield a reasonable accurate
estimation of heat loss. If the rod is made of copper
{K = 350 W/m-K, will the length be different ? How
much will it be and why ? Compare the heat
transfer rates for both the rods. The analysis may

be based on fin tip heat loss alone. 12
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1.

@[UEg &

(a1) TF SUREd] yaw ¥FEH T § a1g 1600 K

()

T YT B & am agEed # 1000 K R
B B, Py = 1 bar | A o o 2w
850 §, 9 @A sl W ¥ g 7 WER
voq & oRe @ awfasaa ¢ ¢ fem man @
ST FAY 25°C 7 |

a1g & T

T, K] h, ikd/kg] | s, [kd/kg-K]

1060 1046 8:6905

1600 1757 8-1349

U wgd @&l AISI 316 STUH THW (K =
14 W/m-K) B, e =8 5 mm 8, & T &R
AT 100°C T T Tl 2 1 B H IS IR
arg, fogs @ so°C @l WA TagAl S
SieRT TUIE 50 WimZK 8, 1 gen 7 | fafe
T 3fRT F AT A B A AT FIT
5 us IwEm agd S A §d e &
fw e A A fEEA A AR 5o
“yim e A A ST g% ? 3 B8 al
(K = 350 W/m-K) &1 & o« =1 <@ s g 2
7e firral fraet @nft qar & ? QA Bl & S
sRuT gl ) qerT S | e ded i@
g T FI W ARG & Hhal 2 |

12

12

F-DTN-M-NFDB 3 [Contd.]

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



(c)

(d)

(e)

2, (a)

(i) What is meant by firing order in internal
combustion engines ?

(ii) What are the firing orders used in 4 and 6
cylinder inline engines ?

(iii) What are the three purposes of firing order
in V" engines ?
A boiler receives a flow of 5000 kg/hr liquid water
at 5 MPa, 20°C and it adds energy to the flow to
exit state of 450°C, 4-5 MPa. Determine the
necessary minimum pipe flow area for inlet and
outlet pipes. The velocity of water is maintained
under 20 m/s. If this boeiler is to operate on Moon,
discuss two major design changes in this type of

boiler,
Given properties of water :
Vinlet = 0-001 m¥kg
Vit = 00716 m¥/kg
Nitrogen flows in a pipe with velocity 300 m/s at

500 kPa, 300°C. What is availability with respect
to an ambient at 100 kPa and 20°C ?

(i) Explain briefly the design and off-design

characteristics of an axial flow compressor.

{ii) Explain the phenomena of surge and choking

in centrifugal compressors.

iz

12

10

10

F-DTN-M-NFDB 4 [Contd.]

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



(F)

()

()

2. (39)

Gy 3faded ol B Sged mH H N andd
27
Giy 4 99 ¢ fafaey 98 A & SEH HA
e § 2
Giy v ESEl % e HF S A B SN
g ?
T AT 5000 kg/hr h TLA A N ¥TE 5 MPa,
20°C W T FAT & a9 g8 Al ST AT Ya
# Hol 450°C TG 4-5 MPa # fegfa # wgH ST
3 | ateetq ar sferin oRd F AT EYES
YA A9%d Td FIEY | S AT 20 m/s S
@A & | Al 3T SeR W e s W R
T @, o R w0 Q) wE e wiEd
A g, SR Fi |
I & fgu oo
Vo = 0001 m*kg
Vaein = 0-0716 m%/kg
UF Y H ABISH 300 m/s A7, 500 kPa T4l
300°C R AT @ & | TREY 100 kPa 3
20°C % WU WAl &4 & ?

() UF wE yaE wdfey & Hfwew d@
Afyheg-gat el & d@wy # wWE
Fiferd |

PR e o o (R e s G C R E R )
&l Wy HNT |

12

12

10

10
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(b) The volumetric heat generation rate in a
cylindrical nuclear reactor fuel rod of 5 cm
diameter is 5 x 107 W/m3. Under steady state
operating condition, the temperature distribution
in the rod is t = 800 - 4-167 x 10° r°. Density,
specific heat and thermal conductivity of rod
material are 1100 kg/m?, 800 J/kg-K and 30 W/m-K
respectively.

(i) What are the rates of heat transfer per unit
length of the rod at the centre line {axis) and
at the rod surface ?

(i1) If the reactor power level is suddenly
increased to 108 W/m3, what are the initial
time rate of change of temperature at the
centre line and at the surface ? 20

{¢) A stream of air flows in an insulated tube of
constant cross-sectional area of 09 m® At a
gection 1, the pressure i§ 0-6 bar, temperature is
22°C and mass velocity 15 150 kg/s-m2. The
pressure in space in which tube exhausts is so low
that choking condition prevails.

Determine,

(i) Mach no. at section 1.

(i) Mach no., temperature and pressure at the
exit of tube.

(ii1) 'Total force exerted in axial direction which

must be exerted to hold the tube stationary.
Given, R = 287 J’kg-K
y’= 14
F-DTN-M-NFDB 6 [Contd.]
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@) TH ATTER “Eeg RuwRy # e g §,
fSas " 5cm 8, HFAAE FE S &L
5x 107 Wm3 2 | 37aiadt warem faafq §, 8 ¥
AT HET & ¢ = 800 — 4167 x 105 2 | B T H
T, fafoy &0 9w A9 Srehal HEY
1100 kg/m?®, 800 J/kg-K 74T 30 Wim-K § |
@ T F UT THE @R B I IR @
(378) W F91 I8 W FH R0 gL fH
g ?

i) ofE fuset ufs W F 108 Wim3 956 Hg9
Ja1 fear SU 89 B & %% @ 99 U8
W 9 uiEgdd & Fe-e fea g 2 20

(W) THETH  STEH-FR AGA 09 m? W TR
AR AfeE § a1 9% YA Sl 8 | 59
TET 1 R €T 06 bar, A0 22°C G941 FSIRME o7
150kg/s-m2%|mmﬁmmm
¥ gt e@ 3o @wm 2 5 9 e fafq
forgm 2 |
RIRIEAIEI
)y 9fEdY 1 W A 3 )

Giy AfeeR & afFi W A e, o9 a9l
[ACEN

(i) e @) fer g9 @ & fou sede fom
¥ R S aren & 9 |

ﬁﬂTTMT%:
R = 287 J/kg-K
=14
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Fanno line (Adiabatic constant area flow with
friction) table y = 14

R I B O I e 254

T e P Py I D

0-58 |1-124,0-615| 1-828 | 1-213 | 1-121 | 0-578
060 {1-119|0-635} 1-763 | 1-188 | 1-105 | 0-491
062 |1-114|0-654| 1-703 | 1-166 | 1-091 | 0:417
0-64 (1-109|0-674| 1-646 | 1-145 | 1-079 | 0-353

20
3. (a) A small power plant produces 25 kg/s steam at
3 MPa, 800°C in the boiler. It cools the condenser
with ocean water coming in at 12°C and returned
at 15°C. Condenser exit is 45°C. Find
(i) net power output.
(ii) required mass of ocean flow water.
1 45°C _ qge)
Given ; hx=0 =1884
V, = 0:001 m¥kg
PIC = 959 kPa
600°C
h3MPa = 3682
SEOC = 7-50 kJ/kg-K 20
(b) (i) A closed cylindrical vessel 0-2 m in diameter
and 1-2 m long is filled with water upto a
height of 08 m from the bottom. Find the
speed of the vessel about its vertical axis,
when the axial depth of water is zero. 10
F-DTN-M-NFDB 8 {Contd.]
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et Tz (wfu dfew sEw far aawe )

y=14
T e 4 Py I 4f Lax
M P — — e R—
T e p Py 1 D

0-58 112410615 1-828 | 1-:213 | 1-121 | 0-576
060 |1-119]0-635| 1-763 | 1-188 | 1:105 | 0-491
062 |1-114|0-654| 1-703 | 1-166 | 1-:091 | 0-417
0-64 |1-109]0-674| 14646 | 1-145 | 1-079 | 0353

20
3. (37) @GR ¥ UF Blel ik FIT 25 ke/s 919 3 MPa,
600°C T 3T &A1 ¢ | 9 T A TR 9 §
Sifa e & 9 12°C W 3iet S 15°C W 99
e & | ol § 9y 45°c 8 | 9 S
@ A2 wfE A
Gi) TR ST YA Sl EeIF FHHA |
T%«’ZITTWT?:
hi5T = 1884
V, = 0:001 m%kg
Py =959 kPa
hSC - 3682
S800°C = 7-50 kd/kg-K 20
@) ) Uk G99 ooER 9e, fes = 02 m
T AAE 12 m 8, Al ¥ 0.8 m H HAR
9% T T W § | W & 3 FEH
3w % et qA Fd R T TA
F amhg T T g | 10
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(i) How would you define the strength of shock
wave ? What do you mean by weak shock ?
Also find the expression for the strength of

shock in terms of dengity ratio. 10

(c) An air-conditioning system (see figure) operates at
a total pressure of 1 atm. It consists of a heating
section and a humidifier that supplies wet steam
(saturated) at 100°C. Air enters the heating section
at 10°C and 70 percent relative humidity at the
rate of 35 m%min. It leaves at 20°C and 60%
relative humidity. Determine
(1)  temperature and relative humidity of air
when it leaves the heating section,

(i) the rate of heat transfer to the heating
section, and '

(iif) the rate at which water is added to the air
in the humidifying section.

Sat. steam 100°C,

Heater h = 2675 kJ/kg
I , "‘0 Humidifier
Air
10°C 1 atm —> 20°C
T0% —> 60%
35 m%/min

® ® O

Also  draw  skeleton Psychrometric chart
represention showing the process, 20
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Giy TR T % szl & g Su ufid
F 7 HAER YOW Y IR F A
7 w9 Y & TS H e gmed &
Bfe St W ST | 10
(%) & aarEed @ (97 @) 1 atm & TET T
W w1 FE 2 | SO U qA dF G941 SEE @
S T 9 (FTE) 100°C T FH @ & | AT
A @ § 10°C TF 70 SRTG HUeT SR ©
95 m¥/min F T T FAY A & | T 20°C W
a9 60% G ST BiS & | I T

G) A dF ¥ ueR fiwed wHE 9y @ A
gl TRy AT,

(i) EOH R Bl FOT ST H &L, qdql
(i) STEW FH O H T FaH H B O

g« 99 100°C,
GIBE3 l«ol h = 2675 kJ/kg
ELE!

10°C 1 atm —> 20°C

0% —> 60%

35 m3/min

® @ ®

Yo @ SN gU TH WMy W # e A

iy | 20
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4, (a)

A steel strip emerges from hot roll section of a
steel mill at a constant speed of 0-1 m/s and a
temperature of 500°C. The length, width and
thickness of the steel strip are 10 m, 1 m and
0-003 m respectively, Air at a mean velocity and
free stream temperature of 20 m/s and 20°C
respectively flows transversely over the strip.
Density, specific heat and emissivity of steel strip,
respectively, are 7850 kg/m3, 620 J/kg and 0-7. The
thermal conductivity, kinematic viscosity and
Prandtl number for air at 20°C are respectively
0-044 W/m-K, 4-5 x 1073 m2/s and 0-68. Neglect the
variation in strip temperature across its width and
thickness.

(i) Write the governing equation for the

temperature distribution along the length of
the strip.

{ii) Neglecting radiation from the steel strip,
derive an expression for the temperature of
steel strip.

{iii} Neglecting radiation from the steel strip,
calculate the steel strip temperature at the
trailing edge.

The following correlation for convection heat
transfer may be used :

Nu = 0-037 Re?® Pr!/3

Symbols have the usual meaning.

20
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4. (30 5 Ty i & O Ao F A TH TN
& 9 01 mis F fER ST ¥ 500°C T W
ol # | T WS & oerd, WieR o™l Aen
I 10 m, 1 m 4T 0-003m & | V& F AN
foom ¥ IWH FW A 20 m/s H AT ST TGl
20°C ¥ TE N A § VAR I ¢ | TEE
@ ¥ o, e SO 99 SoiEdl AT
7850 kg/m®, 620 J/kg TAT 0-7 & | HE <ok,
e A G Yew den 9 % e
20°C U TFHHIT 0-044 W/m-K, 45 x 107> m%s T

068 2 | TR F g o Aer i fgm H a

faaelT & vy oife |
G U & aE & fgyn § ag-ded A
gt & fafe |

G T wd ¥ fafeor & Amg AEd §C
3% A % R O @i Sped Fife |

Gin TOE R ¥ fafewr & e 9Ed g,
3% ST AR AW g Ff |

Fagt s Ao & fau ffafes sgeey

w47 fRT W Had €
Nu = 0037 Reg'i prl/?
Tharil &1 g 3 2 | 20
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(b)

A designer is given the job of designing a steam

based power plant to compete with a nuclear power

plant. Sketch five cycles (all versions of Rankine

cycle) that may qualify for such a job.

Justify your answer with the notion that nuclear

power is cheaper under the given steam-water

conditions. 20
{¢) (i) What are the effects of the following additives
that are added to petrol to improve its
combustion and other characteristics ?
1. Antioxidant
2. Corrosion inhibitor
3. Antiicing agent
4,  Antiknock agent
5. Metal deactivator 10
(i) What are the measures required for the
reduction of the following emissions from
diesel engine ?
1. Particulate Emission
2.  Smoke Emission
3. NO, Emissions
4. HC Emissions
5. 50, Emissions 10
F-DTN-M-NFDB 14 [Contd.]
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@) T BEEN #® 99 FeEfd ue g9 fessa
¥ gl S g% | ofw == @ fafa S (B
W% % W ¥EY) S 59 Fd § Tha @ |
AT TR OH 3 owwn ¥ R dEeme &
T wie & T w-sa R 3 g

2 |

(#)

20

ffefad asE & a1 Y9 Bl § S

i o IES Ted a0 I SHemvl
e & ferg frem S E 2

1.
2
3.
4

5.

ATFHRNH

derot fRles

A+

TR T FEEH

wrq R 10

G ded o9 ¥ fagen A faefefed
IESAT ) FH H & fAU EvEs IU

T g 7

1. HTEH IeEA

2. HH IS

3. NO, 3T

4. TIC I

5. SO, SHE 10
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(a)

(b)

(c)

(d)

SECTION B

With the help of a neat sketch explain the concept
of a flow nct. Clearly mention the various
assumptions made. Also explain the uses of flow
net.

The average friction coefficient, when an
incompressible fluid flows over a stationary
flat surface with free stream velocity of 10 m/s,
is 0-008. The average temperature of the plate
and free stream fluid temperature are
respectively at 120°C and 20°C respectively. Fluid
properties known : density = 0-88 kg/m? and
specific heat = 1001 J/kg-K, Pr = 0:65.

Estimate the average rate of heat transfer per unit
area of the plate. Flow over the plate is laminar.
(i)  Draw the actual p-v diagram of a four

stroke Otto cycle engine and indicate the
pumping loss by hatching.

(11} Explain four deviations of the actual p-—-v
diagram from the hypothetical p — v diagram
of four stroke Otto cycle engine,

In the event of failure of heaters in a spacecraft,
heat is lost by radiation at the rate of 100 kJ/hr
while electronic instruments generate 75 kJ/hr
inside the spacecraft. Initially the air inside the
spacecraft is at 1 bar, 25°C with a volume of
10 m3 How long it will take to reach air

temperature of 0°C ?

12

12

12
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g @

5. () TH Wep (@M F TEAd H TR e

(%)

)

()

Haew & @ Hife | fafm sees @ we
IeoiE FFAY | 3R e & ST B o Wy
FHIT |

U fer WO 7w WS HUIEY e A 9l
AT 10 ms ¥ TR FAT @ T N OO H
o 79 0-008 @ | W F EA AT qU R
U1 % S 919 HOYE 120°C T 20°C 8 1 R
Wﬁr{%aﬂa =0-88kg/m3ﬂmﬁiﬁ'|'§
8T = 1001 J/kg-K, Pr = 0-65.

W % 9 UEE 9% 9 fEd S S

T T | O F HW 6T w0 2

q) UR ®iE e TF% 99 & fag ardfas
p—vaﬂi@@ﬁqﬁmﬁmmﬁaﬁm
t@ifed ST |

Gy TR WIE A @ 99 & arE® pov
@ F AT p-v oM@ ¥ FA-H TR
foraaa €, wE ST |

siaftey aF & awsl & fafseg @R W A gl

FAfOT ERT 100 ki/hr 5 & 9 Bl & S T

TRl U] 3fafE I & W 75 kJ/hr &

o I IO W § | Wy § Ry am $

I A7 1 bar, 25°C T 10 m® AT & Bt

g1 A H AW ooC WE BA A fea T

o ?

12

12

12
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(e) A small expander (turbine with heat transfer) has
0-05 kg/s helium entering at 1000 kPa, 300 K. The
power output on shaft is measured at 55 kW. Find
the rate of heat transfer neglecting kinetic energy.

Cp’ He = 9193 kJ/kg-K 12
6. (a) Derive
%)~ (%)
0P Jg 08 Jp

(), = (5,

(5, - (&),

from the first principles. Explain any assumptions
needed here, 20
(b) Atubular gas heater heats air flowing at the rate of
55 kgfs from 20°C to 75°C using saturated steam
condensing at 1-3 bar (saturation temperature, t_,
= 107°C). It is proposed to double the flow rate of air
to heat the same for the same rise in temperature in
the same gas heater. One way of doing this is to
increase the condensing pressure of saturated
steam., What should be the pressure needed if the
overall heat transfer coefficient remains the same
for both the operating conditions ? Specific heat of
air=1-005 kd/kg-K.
For steam, the following pressure and the
corresponding saturation temperature are known :
p (bar)| 2 3| 4 5 6 7 8 9

t . (°C)|120-2(133-5|143-6(151-8(158-8|165-0(170-4{175-4

sat

20
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(@) TH DR THRS (I AW a Z@RA) H 005
ke/s T BRI 1000 kPa, 300 K T ¥ & ¢ |
dtoe W afty wife 55 kW AT TE @ | i el
) T I g ST ST € 1 S |
C, 1o = 5193 ki/kg-K 12

6. (31) wm fagid § oo #ifoe
e~ Las),
(57), =5

5%

72t aavas fal Foeuel S Wy S | 20

() W& A g aE S 99, S 13 bar T HTTH
FE & (VG T ¢, = 107°C) F T Hd gY
55 ke/s FaNET B4 STEl TE H 20°C H 75°C T
9 ST 2 | I Eard ok A € 6 3 e
T A9 e a9 H & faw T war g R faa
ST | O R & A O e 9 § R gy W
% Teee o # gfg X & 90 | EvgE g fEa
B T wdF T ST NS G e
feferdll # UTHH T § 7 A F iy e -
1-005 kd/kg-K.

% fou g@ ag1 dege Tgws @Y A
[

phan)| 2 | 3 | 4 | 5 | 6| 7|8
t,,,(°C)[120-2[133-5143-6[151 8(158:8!165:0|170-4/175-4
.

20

F-DTN-M-NFDB 19 [Contd.]

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



(c) (1) What is the purpose of shrouding the inlet

valve in compression ignition engines ? 4

(it) With the help of cross-section figures and
schematics show the shrouded inlet valve
and masked cylinder head for producing net
in-cylinder angular momentum viz., swirl in

compression ignition engine. 12

(111} Give two disadvantages and their effects of

open combustion chambers, 4

7. (a) Draw the schematic arrangement of a simple cycle
with intercooled and heat exchanger and explain
briefly the working principle. Also draw the P-V
and T -8 diagrams of the cycle. Further, derive
expressions for specific work output and the
efficiency of a simple cycle with intercocled and
heat exchanger. Draw their trends as a function of

pressure ratio. 20

(b} Explain hew the Diesel Fuel is rated by the

following with their salient features :

{1y Critical Compression Ratio Mcthod — CCR &

(11) Calculated Cetane Index — CCI 4
(iii) Diesel Index 8
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@) ) wEd wEen R % s A &
oftesie 1 3Ry g 2 4

Gy  dded Teae g9 3 fafest & e e

¥ fou ofefea sy g wd weeifcd

faferee o 1 w5 &l 8, S9! Hidfde

W e o fog s\ e wWe

FIfeT | 12
iy faga oEd e A g wE 3 A
I ool T | 4

7. (37) U GV 9% F, oaH FUeias g S
fafafos &1, aer fag e gey § Gearfafy
F WP FSHC qa wEFE G aeEy | @6
§ fHw p_vaw T-s sn@ f difaw | 39F
e T8 @ERel 9% & fag fafvy st a5
O e o U =i S &Y 1 T
AU F Weid & 9 I fewm off @i L 20

(%) I8 W #ifge f§ faffes gv §9a 399 &)
o FY FE SO 8 qA 3N TEH o

Eali) 32'_()1'@ ﬁﬁm :
i  Hifgw T g9 eE fafg —
Tt & 3m 8
Giy  TOTAT fRET T ST gEEe — W H R 4
(i) el IS 8
F-DTN-M-NFDB 21 [Contd.]

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



(¢) A commercial refrigerator with refrigerant 134a as
the working fluid keeps a space cooled at — 30°C.
It rejects heat to cooling water that enters the
condenser at 18°C and at the rate of 0-25 kg/s and
it leaves at 26°C. The refrigerant enters the
condenser at 1-2 MPa and 65°C and it leaves at
42°C. The inlet state of compressor is 60 kPa and
—34°C. It gains a net heat of 450 W from the
surroundings. Sketch T-S diagram and

determine,

(i} refrigeration load

(i) COoP

(iii) theoretical maximum refrigerant load for the
same power input to the compressor.

Given properties :

RO kP2 = 230-03 kd/kg

h}é?g kP2 _ 995.16 kd/kg

h1200kPa _ yy1.93 ky/ke

42°0
60 kPa s
X1 1123 kikg = 047
Dy ater, 18°¢ = 754 k/kg
M ater, 26°c = 1089 kJ/kg 20
F-DTN-M-NFDB 22 [Contd.]

J

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



() T FTEUlEE Wi SEER WE % w9 o
Toitas 134a H VAN FAAT B G4l W @
— 30°C W ¥ AT TEaT 2 | Fg Yo o
& T IRed S g W "afm §o1sc W
025 ke/s &0 U WA HTl 7 T 26°C W AT
freperar @ | Seiaes gafmm & 1.2 MPa 991 65°C
WYY HT & T 42°C W Fewerar @ | gifsd
% afa W &I 60 kPa A9l — 34°C & | Wlkaw
¥ 98 450 W 4T FE W H & | FTH
T .8 30 FET a9 I1d HINT -

) WA @

Go ELemn

Gii) Tdfey % I st vRE 3 fou, dsif
e T AT |

few T wporent -

h8O P = 230.03 kd/kg

hggg kPa _ 995.16 kJ/kg

hggg kPa _ 111.93 kJ/kg

x??llgsak..l/kg = 0-47

hwater, 18°C = 754 kd/kg

Byater, 26°C = 1089 kd/kg 20
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8. (a) An electric furnace consisting of two flat surface
heaters, top and bettom, is used to heat treat a
coating that is applied to both surfaces of a thin
metal plate inserted midway between the heaters.
The heaters and the plate are 2 m x 2 m on a side,
and each heater 1s separated from the plate by a
distance of 0-5 m. Each heater is well insulated on
its back side and has an emissivity of 0-9 at its
exposed surface. The plate and side walls have
emissivities of 06 and 0-3 respectively. Under
steady operating conditions, both heaters are at
800 K while the side walls are at 400 K. View factor
between the heaters and the plate is 0-62.

(i)  Sketch the system and its equivalent thermal
network and label all pertinent resistances

and potentials.

(ii) Calculate the associated resistances and
driving potentials,
{ii1)) Calculate the required electrical power. 20

(b) A low temperature power plant operates with a
refrigerant maintaining — 20°C in the condenser, a
pressure of 3 MPa and superheat of 80°C. There is
one open feedwater heater operating at 800 kPa
with an exit as saturated liquid at 0°C.

(1)  Sketch the schematic of this plant.
(ii)  Sketch the corresponding T - S diagram.
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3‘8. (H) TF Jgg A9F ¥ A TUE §E A9E W a0

9 o & | 3uE US yaer g vel, feees &
gEl W e fHa T ], & IS IR %
fou wibT ffan S R | OTg 9g & S anee
ysl % dw wer ¥ fegg o man @ ) Ae
Q@Emﬁ2mx2m%ﬁmmﬁm@
Fosmd g WE | TS auE F} OB H
7E 3 AR ¥ dOfEg @ a9 3k go W
F ITHA 00 7 | UG dU U €ER H:;
Teasiahal AT 06 3N 0-3 @ | Tufed! s
Tomali § M A9k 800K W ¥ WE Uvd @i
FaR 400 K 9 & | A9 d1 UG & " 3T
T 062 |
@) 39 9T H qY G FHE Tas F R
FART qu woff avEs yd we favai
T AHifRd HferT |
Gi) Hatyd gfadr qw ares fawe & e
Ffw |

(i) FEvTH fogd vid & T Fi | 20
(&) TS 9 a9 v G4 F sEeE wies @

2 s guf ¥ - 20°C G, 3 MPa T@ Y1 80°C
Hfear aTT T@aT & | 350 TS faga BT S
q9F S 800 kPa W SEIferd &l & 79 afgry W
0°C W HJW %9 & &Y ¥ D & |
() TH TIT F S @i a Ry |
(1) TEIER T-§ NG TR |
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(ii1) Set up equations only to compute extraction
fraction of the flow out of turbine and the
turbine work per unit mass flowing through

boiler.

(iv) Indicate in your answer which refrigerant

properties are needed. 20

(¢} Discuss briefly how the following alternate fuels
considered for Compression Ignition Engines i.e.,
Diesel Engines compare with respect to
introduction into the engine, calorific value, part

ioad and full load operation and safety aspect :

(i) Biogas produced from cow dung, water

hyacinth, algae and municipal wastes
(1) Hydrogen Gas
(111}  Ethyl Alcohol

(iv) Cashewnut Shell Liguid (CNSL) 4x5=20
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G TEET ¥ AR M g JEE & S
AT S U SeANA @ Ao ¥ TR &
fou TEwRA w9 & T % fag Fed
g wWifyd &y |

Gv) T IR T 9 weigy f o & e
T ) savEEd @ | 20

Wﬁwﬁmﬁﬁmﬁﬁaﬁémﬁﬁ

s yeaed o atafq diwa $9d A, fafust

e e G gy § feed 39 €

G e S omeR, Segefl, el a9 TR
g s@Efest § I H O E

() gEeeH 19
(i) Tfre Uchard
(iv) &N @ 59 (9. 09.0.) 4x5=20

F-DTN-M-NFDB 27

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



F-DTN-M-NFDB|

it ottt

usq-ua 11
Tgg : dlT o gvrfas:a'oo
N
gid g fadt sk srshr e H war &

gt & 3R 39 Arew ¥ ford s anfav et seoa
3 9397 H fear vy &, 3Rk 59 megw & W
FeoIT FR-gRasT & 4@ 7o W Sifead [T & )
fasar ST Tife | 9a9-ua ) sfeoiiad aream & iR
3= fdt areay 8 ford e 3IR W B 3D Tel A |
g7 o= 1 37 5 3ifard & | art ge o © v&E @vs
HH-T-BH O JI GG [-¢] el 7941 & FoR GNore |
F® JoT & e faag e yeT s d Ra mw &
afe o st sl g &, at 3 g g el
Y Fow | FEaifada ETBE(Psychrometric chart)
SO TTUA & Ay G & |

SET e IEE/ ARG fae T &, a8 dae JoR-YRaer
g3 & 3eifad BT /

wevayf : g ava® & 5 51| ot faed qeq a1 307 2
@ & ag 39 ge= & wft wmml/3o-art & IO} ar-ar
& 1 ga@r o g7 & fF smet e @71 IR fora & e
3 §g= ¥ qd fioe gev & wift ym/au-am & IR
THIGT &) ST | 3% &6 &7 BT ¢ IJeRT BT |
Fox gRamr # @t Big ge gl @ vt ¥ we w7 @
Fre & | @ ge ge gl & a7 ford gr IRl & 3T
7 e sme, owr g wEaT & |

Note :  English version of the Instructions is printed on
the front cover of this question paper.
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